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8.23 x 20% = 9.88 x 30% =

4.67 x 40% = 6.66 x 90% =

9.85 x 40% = 0.71 x 80% =

9.07 x 90% = 0.24 x 60% =

1.23 % 50% = 5.87 x 10% =

4.57 % 30% = 2.62 x 80% =

4.77 x 10% = 4.27 % 30% =

4.54 % 70% = 4.92 x 20% =

1.79 x 90% = 6.29 x 20% =

6.45 x 50% = 6.22 x 50% =
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P & =0
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G

8.23 x 20% = 1.646

4.67 x 40% = 1.868

9.85 x40% = 3.94

9.07 x 90% = 8.163

1.23 x 50% = 0.615

4.57 x 30% = 1.371

4.77 x 10% = 0.477

4.54 x70% = 3.178

1.79 x90% = 1.611

6.45 x 50% = 3.225

H -

9.88 x 30% = 2.964

6.66 x 90% = 5.994

0.71 x 80% = 0.568

0.24 x 60% = 0.144

5.87 x 10% = 0.587

2.62 x 80% = 2.096

4.27 x30% = 1.281

4.92 x20% = 0.984

6.29 x 20% = 1.258

6.22 x 50% = 3.11
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